
Kondenzátor:         Tekercs: 

 

 

 

 

𝑖𝑐(𝑡) = 𝐶
𝑑𝑢𝑐

𝑑𝑡
                                                                                            𝑢𝐿(𝑡) = 𝐿

𝑑𝑖𝐿

𝑑𝑡
 

Q = C U                                                                                                      Ψ = L I  

energiája: 𝑊(𝑡) =
1

2
 𝐶 𝑢2(𝑡)      energiája: 𝑊(𝑡) =

1

2
 𝐿 𝑖𝐿

2(𝑡) 

 𝑢𝑐(−0) = 𝑢𝑐(+0) Folytonos     𝑖𝐿(−0) = 𝑖𝐿(+0) Folytonos 

Állandósult állapot: 

Kondenzátor:         [ t=(-0) , t=(∞) ]   Tekercs: 

 

 

 

 

 

Kapcsolás pillanata:  [ t=(+0) ] 

  ha  𝑢𝑐(−0) = 0      ha 𝑖𝐿(−0) = 0 

 

 

 

 

 

 

 


